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. Bpluwlh phy 149 wwag nwpngh Xl nwuwpwoh wywytpun Alnpg Upwlywb

Il ywpg

. Bnwpnh phy 1 nwpngh XII nwuwpwOh wwytpuin Qunptght Gunpgyub
. Ununwph Jdwpgh Upwdnup nwpngh Xl nwuwpwOh  wwytpuinithp - Uwphwd

fuwiswunpjwl

Il Yuwpg

Gplwlh «2Jwlwn» Jupdwpwbh Xl nwuwnpwOh wawytpunnithh Lwpt <wpnieyNLOywW
GplwOh phy 195 nwpngh Xl nwuwpwbh wwytpuininihp Utph Uppwhwidjw

Gplwbh phy 170 nwpngh Xl nwuwpwbh wwytpunnihh CnnhYy Twquipywb
Qbnwppnitbhph dwpgh LAwGOh nwpngh Xl nwuwpwOh  wwytpuinithh  <Gpdhak
Qwnhpjwl

Gplwbh phy 149 nwnpngh Xl nwuwpwbh wwytpunnihh Ujntquibw Uwdwnyu

Qnwuwlwqgnptp

Gplwbh «<Gpwgh» nwnpngh Xl nwuwpwbOh wwybpunnithh UGOw Quipuunywl

Qynidpnt «dnunnb» Jupdwpwbh X nwuwnpwOh wwytpunnihh Swpl Ywpwwtuywb
Upwpwuwh wtwnwlwb pnitoh 3-pn Ynipuh ntuwbnnnihh Ywpnni Twquinjub

Splwlh phy 115 nwpngh Xl nwuwpwOh wwytpuinithh Lhwbw Uwnpunhpnujw
Upwpwuwh dwnpgh Uwuhuh wywg nwpngh Xl nwuwpwOh wywytpunnihh Ephunpbb
Lwquinwb

6. Upwpwuwnh dwngh Gpwufuh nwpngh Xl nwuuwpwOh wwytpunnithh UGwhhun Uwhwyw
7. Upwpwunh wywag nwynpngh Xl nwuwpwOh wwytpunnihp Lhihp SGpuintGpjwl
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